10.

Mathematics Revision Test 13

(7x8) + 5 =

1
Decrease 72p by g =

0.6+018+54-=

Using the letters, what are the pair
of parallel lines in this trapezium?

A B Answer:
\ : and
C

42 + 52 =

9
10 °f 2kg =

Find the average of these lengths:
5.4cm, 4.6cm and 3.5cm

Answer
6+ L v
*10 * 1000

Write this as a decimal:

2
3 of £3.60 =

12cm

7cm

Area of the shape above
= cm
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20.

1
2 of 1000 =

Find the PERIMETER of the shape
at question number 10

3_2
4 16 Answer

Rule: what you do to the top you do to
the bottom

(8 x 6)+10 =

What are the first 10 Prime
Numbers? Start with 2.
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Factors of 20

3=

Note:

Please start to do any working out on this
sheet, as this is what you will have to do in
an exam. But please be NEAT!




